Multiplique decimais por poténcias de dez

7,594 x 10 =

9,052 x 1000000 =

2,981 x 100000 =

Encontro: Data: Pontuagao:

7,827 x 1000 =

7,463 x 10 =

7,785 x 100000 =

10,02 x 100 =

10, 01 x 100000 =

7,9 x 1000000 =

10, 694 x 10000 =

4,371 x 10000 =

3,614 x 100000 =

10, 649 x 1000000 =

1,976 x 100000 =

5,586 x 10000 =

2,978 x 1000 =

8,389 x 10 =

10, 102 x 1000 =

8,528 x 10000 =

6, 954 x 1000 =
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Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagio:
7,594 x 10 = 75.94 7,827 x 1000 = 7827
9,052 x 1000000 = 9052000 7,463 x 10 = 74.63
2,981 x 100000 = 298100 10, 649 x 1000000 = 10649000
7,785 x 100000 = 778500 1, 976 x 100000 = 197600
10,02 x 100 = 1002 5, 586 x 10000 = 55860
10,01 x 100000 = 1001000 2,978 x 1000 = 2978
7,9 x 1000000 = 7900000 8,389 x 10 = 83.89
10, 694 x 10000 = 106940 10, 102 x 1000 = 10102
4,371 x 10000 = 43710 8, 528 x 10000 = 85280
3,614 x 100000 = 361400 6,954 x 1000 = 6954
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